
1 
 

 

 

 

 

 

 

 

 

 

 



2 
 

• 

• 

 

 

▪ 

▪ 

▪ 

 

(%)
 desainKapasitas

Output
Utilitas =
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 EfektifKapasitas

Output
Efisiensi =
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(BEP)x =
F

P−V

(BEP)$ =
F

1−
V

P
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(BEP)x =
F

P − V

(BEP)x =
10.000

4 − (1,5 + 0,75)

(BEP)x = 5.714

 

(BEP)$ =
F

1 −
V
P

 

 

(BEP)$ =
10.000

1 −
(1,5 + 0,75)

4

 

 

(BEP)$ =
10.000

0,4375
 

 
      (BEP)$ = 22.857,14 

  
 

22.857,14

 

(BEP)$ =
F

∑ [1 − (
Vi

Pi
) x (Wi)]
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[1 − (
Vi

Pi

) x (Wi)]

 

(BEP)$ =
F

∑ [1 − (
Vi
Pi

) x (Wi)]

(BEP)$ =
3.000 x 12

0,47

      (BEP)$  = $76,596 
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(BEP)$ per hari   =  $76.596 

          312 

(BEP)$ per hari   =  $245,5 
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→

→

→
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Daftar Pustaka 

● Heizer, Jay dan Render, Barry. 2017. Manajemen Operasi. Jakarta: Edisi 12 


